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Two Hours] [Maximum Marks : 70

Attempt any four questions. All questions carry equal

marks.

What is Job Costing? How does it differ from Batch Costing?
Mention the types of industries in which this system is

applicable.

Define operating costing. Discuss its features and give

examples of situations where operating costs are computed.

The following is the cost of manufacturing 4,000 units :

Materials Rs. 15,000 Wages Rs. 2,000
Direct Expenses Rs. 300 Fixed Overheads Rs. 14,000
Variable Overheads Rs. 3,000
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It is estimated that for manufacturing every 1,000 units
(over and above 4,000 units) the manufacturing cost will

increase by following rate :

(a) Materials will increase proportionately.

(b) Wages will be 10% less than the proportionate amount.
(c) Direct expenses will not increase.

(d) Fixed overheads will increase by Rs. 2,000.

(e) Variable overhead will be 20% less than the proportionate

amount.

Calculate the cost to produce 7,000 units and show by how
much amount this cost would differ if all the factory overheads

were charged at 10% of direct wages.

IV. An expenditure of Rs. 1,94,000 has been incurred on a
contract at the end of 31st March, 2016. The value of work
certified is Rs. 2,20,000. The cost of work done but not yet
certified is Rs. 6,000. It is estimated that contract will be
completed by 30th June, 2016 and an additional expenditure
of Rs. 40,000 will have to be incurred to complete the
contract. The total estimated expenditure on the contract is

to include a provision of 2.5% for contingencies. The contract
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price is Rs. 2,80,000 and Rs. 2,00,000 has been realized in
cash upto 31st March, 2016. Calculate the proportion of
profit to be taken to profit and loss account as on 31st
March, 2016 under different methods.

Define activity-based costing. State the need for emergence
of activity based costing. How ABC system supports corporate
strategy?

What do you mean by cost control accounts? Explain various

cost control accounts.

From the following detail, prepare statement of Equivalent,
statement of cost and statement showing apportionment of

cost by following FIFO :

Opening work in progress 2,000 units
Rs.
Materials (100% complete) 5,000
Labour (60% complete) 3,000
Overheads (60% complete) 1,500
9,500

Units introduced into the process during the current
period : 8,000.
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There are 2,000 units in progress at the end of the period

and the stage of completion is estimated to be :

Materials 100%
Labour 50%
Overhead 50%

8,000 units are transferred to next process. There is no

process loss and the process cost for the period are :

Rs.
Material 88,000
Labour 62,400
Overhead 31,200
1,81,600

The following information is available from the financial
books of a company having a normal production capacity of
60,000 units for the year ended 31st March, 2017 :

1. Sales Rs. 10,00,000 (50,000 units).

2. There was no opening and closing stock of finished

units.

3. Direct material and direct wages cost were Rs. 5,00,000
and Rs. 2,50,000 respectively.
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4.  Actual factory expenses were Rs. 1,50,000 of which
60% are fixed.

5. Actual administrative expenses were Rs. 30,000 of
which 40% are fixed.

6.  Actual selling and distribution expenses were Rs. 30,000
of which 40% are fixed.

7. Interest and dividend received Rs. 15,000.

You are required to :

(a) Find out profits as per financial books for the year
ended 31.3.2017.

(b) Prepare a statement of cost and profit as per cost
accounts for the year ended 31.3.2017 assuming that
the indirect expenses are absorbed on the basis of

normal production capacity.

(c) Prepare a statement reconciling profits shown by financial

and cost books.

IX. Write brief answers of any fen :
(1) Work certified.
(i) Escalation clause.

(i) Job costing Vs Contract costing.
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(iv) Inter—Process Profit.

(v) Joint cost.

(vi) Integral and non-integral accounts.
(vii) Transfer pricing.

(viii) Productivity costing.

(ix) Value analysis.

(x) Cost pools.

(xi) Opportunity cost.

(xi1) Retention money.
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The following is the cost of manufacturing 4,000 units :

Materials Rs. 15,000 Wages Rs. 2,000
Direct Expenses Rs. 300 Fixed Overheads Rs. 14,000

Variable Overheads Rs. 3,000

It is estimated that for manufacturing every 1,000 units
(over and above 4,000 units) the manufacturing cost will

increase by following rate :

(a) Materials will increase proportionately.
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(b) Wages will be 10% less than the proportionate amount.
(c) Direct expenses will not increase.
(d) Fixed overheads will increase by Rs. 2,000.

(e) Variable overhead will be 20% less than the proportionate

amount.

Calculate the cost to produce 7,000 units and show by how

much amount this cost would differ if all the factory overheads

were charged at 10% of direct wages.

Iv. foHs-vda T2 feggd & ©F QAT JI<E &9

An expenditure of Rs. 1,94,000 has been incurred on a
contract at the end of 315 March, 2016. The value of work
certified is Rs. 2,20,000. The cost of work done but not yet
certified is Rs. 6,000. It is estimated that contract will be
completed by 30th June, 2016 and an additional expenditure
of Rs. 40,000 will have to be incurred to complete the
contract. The total estimated expenditure on the contract is
to include a provision of 2.5% for contingencies. The contract
price is Rs. 2,80,000 and Rs. 2,00,000 has been realized in
cash upto 31st March, 2016. Calculate the proportion of

profit to be taken to profit and loss account as on 31st

March, 2016 under different methods.
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From the following detail, prepare statement of Equivalent,

statement of cost and statement showing apportionment of

cost by following FIFO :
Opening work in progress 2,000 units
Rs.
Materials (100% complete) 5,000
Labour (60% complete) 3,000
Overheads (60% complete) 1,500
9,500

Units introduced into the process during the current
period : 8,000.
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There are 2,000 units in progress at the end of the period

and the stage of completion is estimated to be :

Materials 100%
Labour 50%
Overhead 50%

8,000 units are transferred to next process. There is no

process loss and the process cost for the period are :

Rs.
Material 88,000
Labour 62,400
Overhead 31,200
1,81,600

foHs-vgn 29< fegg & TR nidAT IS AT

The following information is available from the financial
books of a company having a normal production capacity of
60,000 units for the year ended 31st March, 2017.

1. Sales Rs. 10,00,000 (50,000 units).

2. There was no opening and closing stock of finished

units.
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3. Direct material and direct wages cost were Rs. 5,00,000
and Rs. 2,50,000 respectively.

4. Actual factory expenses were Rs. 1,50,000 of which
60% are fixed.

5. Actual administrative expenses were Rs. 30,000 of
which 40% are fixed.

6.  Actual selling and distribution expenses were Rs. 30,000
of which 40% are fixed.

7. Interest and dividend received Rs. 15,000.

You are required to :

(a) Find out profits as per financial books for the year
ended 31.3.2017.

(b) Prepare a statement of cost and profit as per cost
accounts for the year ended 31.3.2017 assuming that
the indirect expenses are absorbed on the basis of

normal production capacity.

(c) Prepare a statement reconciling profits shown by financial

and cost books.
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